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1

Teh a&q & IRIEGAT & 3 §
The permeability of a material means

(@) I&g &r gadr / strength of a material.
(b) ST TE] & HIAT T o W3 Teh ATl
The conductivity of a magnetic material to the magnetic lines of force
(©) %Tmﬂow $r gear / Strength of an electromagnet
(d) dahel ST & AP W ollg & &3 A AV Yaohol
Magnetization remained in an iron bar on withdrawal of magnetising force

AREN, offel, 8T TUT FQGUTH @7 dsalel Teh el YUY &M AT Bial & /
The resistance value of a carbon resistor having Orange, Red, Brown and Golden color
bands is

(@ 32kQ+5%

(b) 3.2kQ=+5%

) 320Q+5%

(d 32Q+5%

TS B # gAfad o sien @nfge

A fuse should be connected in

(a) facgemd Hagsh & @Y s{@elr & / series with neutral conductor

(b) TASTHTET Tagsh & AT TAAGR # / parallel with neutral conductor
(C) TROT HAgsh & AT AR H / parallel with phase conductor

(d) =ROT Hageh & A H@el A / series with phase conductor

MCCBtus &

MCCBis
(a) Fess T IRIY s / Moulded case circuit breaker
(b) HEF & 9RYY ST / Main case circuit breaker
(c) HET fAIF0T IRUY §T / Main control circuit breaker
(d) #&T 9o g9y sT / Main current circuit breaker

BIS #I5 & 3ER -8ush & [T 3ugerd arR & T BT &
The color of wire recommended for earth connection as per BIS code is

(@) IteT / Red
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(b) 81 / Green
(c) =t / Black
(d) sirerr / Blue

6 oz tfas Sl & TIfSier & w5y &ia ar 3 3cated g §
Which gas is produced during charging of a lead-acid battery

(a) gT83reteT / Hydrogen

(b) #HrdsT / Methane

(c) 3iferdrster / Oxygen

(d) @1eaT 383TeFATSS / Carbon dioxide

7 Teh 120 Ah &THAT aTel dedl, 8A URT &l 3af & fav & G&hdr &
A 120 Ah capacity battery can deliver a current of 8A for a period of

(a) 20 gc/hrs
(b) 15 &&/hrs
(c) 12 gc/hrs
(d) 8&c/hrs

8 50 A WS GTRAT & T FUIRT & 200 diec & fq%d For do arer fomar amr
g guRT & §ufa FeT & gdse
A capacitor of capacitance 50 micro farads is charged to a potential difference of 200
Volts. Find out energy stored in the condenser?

(@) 13et/ joule

(b) 100 f&elr Sfer/ milli joule
(c) 10 f&e Syt / milli joule
(d) 100 Sfer/ joules

9 U ¢35 g9 & IR 3 el W1 & yarg A e rAfafad & & &l @ g2
Which among the following is the direction of flow of line of force around a bar
magnet?

(a) vdt ga & afaer ¢ga @ / out of the east pole into the west pole
(b) 9= ¢ & qdf ¢a s / out of the west pole into the east pole
(c) aferolre@ & 3 ¢ e / out of the south pole in to the north pole
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10

11

12

13

14

(d) 390 ya & gf@ol ¢a ds / out of the north pole into the south pole

gfases T &1 A9F &

The unit of reluctance is

(@) ampere/cm?
(b) weber/cm?
(c) ampere turns /weber

(d) ampere turns /cm?

H@am RLC IR9Y & 3rfdr 3 (f,) feior & & fow @7 &
The formula for determining resonant frequency (f,)of series RLC Circuit is

(a) f=+VLC

1
(b) fr—ﬁ

(c) f=2IIVLC

_ 1
(d) fr_ZH\/ﬁ

TeATEdl dlecdl TUT YRT &l IRATCT JT G & a2l g &l ¥@T &l U IR &
g AENd Far Srar g1 59 9T & Fga T

Alternating voltages and currents are represented by straight line with an arrow to
represent the magnitude and direction. This representation is called

(a) 3tfeer &MAT / Scalar quantity

(b) ®EI ATET / Phasor quantity

(c) Tcaradt AT / Alternating quantity

(d) rms AT / rms quantity

N-CT8T 37EfelTeleh & TR &l & foIT “Sifter g 3T fhv Siearen gerd g

The material used for ‘doping’ to prepare N - type semiconductor is

(a) sf3=e / Indium
(b) 3ferzeT / Gallium
(c) 3RAfA® / Arsenic
(d) =rér / Silver

IR WS H 3chA ol ufhar & FEd o
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15

16

17

18

The reverse breakdown phenomenon in a zener diode is known as

(a) 37adra wHTd / Avalanche effect
(b) gfer wora / Hall effect

(c) et gdHTT / Tunnel effect

(d) Hreier gaTa / Seebeck effect

5 AGRTY (800W & FH) H efAd fAKAA YahIr faeg3it S Tear €

Maximum number of light points allowed in a 5 A circuit (not exceeding 800W) is

(a) 5 fe=g / points

(b) 10 o= / points
(c) 15 =g / points
(d) 20 fo=g / points

as 3Ul F Hhdd F T 8 HaTF aof gIaT &
The force required to move the pointer in an indicating instruments is

(a) fa&T sor / deflecting force

(b) f&==s e / controlling force

(c) 31aFHe &o / damping force

(d) ag °YUT 3{aFHcsT & of / air friction damping force

DC SifelT & 9RT EMF (E) T gF & (0= 9 ¢a & el Jeehig wore,
Z = el # Fel TEIT, N= rpm & U & 91, P = ¢al H T&IN, A = HHAEAIKR
g2 I TE&dn)

The formula to find EMF induced (E) in DC generator is ..... (® = Average magnetic

flux per pole, Z = Total number of conductors, N = speed of rotation in rpm, P = number
of poles, A = number of parallel paths)

(a)
(b)
(©)
(d)

®ZN P

E =—x-volts
60 A
dZN A
E =—— x=volts
60 P
dzZP
E =— volts
60
dZN
E =—volts
120

FiT G@r ST @ oig W BT deear &ar &2

Which type of generator gives a constant voltage output at all loads?

Page 5 of 18



Technician-B (Electrical) Question Booklet Series - A

19

20

21

22

(@) TR FFa3vs AT / level compound generator

(b) T FFuar3vs FAfAT / cumulative compound generator

(c) 37 FFur3vs SifaAx / differential compound generator
(d) 81@?»” ST / series generator

fohaeh JTToer & Qe AT T 3UIT AT ST 87
For which one of the following applications, DC shunt motor is used?

(@) Selfege grd AT Yo7 / Electric tram or train

(b) saifdes gisEe AT el / Electric hoist or crane

() 3Tg TIfEr T & TTY dTell HLAT / Drives with high starting torque
(d) #ef=T 3SR 38e™@ / Machine tool drives

Teho! QATehel 0T dTel T dle HIeY gaRT 3 e gRuy # afdad (P) gl &
(Wia W, = giec #Hrex ﬁ%gT)

Power (P) in a 3 phase circuit with two watt meters at unity power factor is (W1 & W, =
watt meter readings)

@ P= W, +W,
() P= W;-W,
© P=W,xW,
d) P= 2w,

IfE v CEBER & gfadae B T gIer fhar Sv aur wraffe dleear @ o3
frar ST ar gfadae decar gram|

If the secondary turns of a transformer are doubled and at the same time primary
voltage is reduced to half then the secondary voltage will

(@) 3T / be halved
(b) #1§ aRader s7gT / not change

(c) = / be doubled
(d) =X 31T / be four times

Thic AT HT H deoer & 39T fhar Srar §
Scott connections are used to transform:
(a) Uehel tE T &l el =0T

single phase supply into three phase supply
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23

24

25

26

(b) Teel %H IMYAT T ar =T
single phase supply into two phase supply
(c) TR Fufdhd TrafAe # 3ecr TUfhd gfadas
star connected primary into delta connected secondary
(d) e =ROT 3Tl @ ar vE 3t
three phase supply into two phase supply

TEGHET H 99T T arell AT & Nehed To9ET & 3ieT 3TANT fhAT Sarem gerdy
g gl

Material used inside the breather to prevent moisture entering the transformer is

(a) @f3Td FeIR1ss / sodium chloride
(b) |fsT# fafeke / sodium silicate
(c) Taferer Ster / silica gel

(d) =TT Fethe / copper sulphate

Sefaegdr 2T 7 39T R Swarer SearatdT YR @I BT §

The type of alternator used in hydroelectric power stations is

(a) I Aferde g wcarafds / non salient pole alternator
(b) @ferge drer gearafda / salient pole alternator

(c) esf SeeX / turbo generator

(d) T caTseT Ycarafas/ steam turbine alternator

$s9eT AT 3 VT awT ¥ IRy () ¥

The frequency (f;) of the rotor current in an induction motor is given by the expression
(s = slip, f = supply frequency)

(@ fi=(f/s)

(b) fr=(s/f)

() fr =(s/f?)

(d) fr=(s.T)

4 gdrg AC HieT & TIIT ol gofereenel f3alr gl

Total electrical degrees for a 4 pole AC machine is equal to
(@) 180
(b) 540°
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27

28

29

30

(c) 720°
(d) 900

fEFatel ol SR AKX (SCIM) H Al SR & g & fav HAeAfafgd & 4

dleld didy &ddigU

Which of the following statement is FALSE for skewing of motor bars in a squirrel
cage induction motor (SCIM)

(2) T I T Uk & / it prevents cogging
(b) U3 ek @I Ferar & / it increases starting torque

(c) 318 UHTHA Clh HI 3cdiesT / it produces more uniform torque

(d) 379 JATeleT & AT Al “hum” BT HH FAT &
it reduces motor “hum” during its operation

FEEes gulks @ ®

Synchronous capacitor is

(a) T T TAfas e d / an ordinary static capacitor bank
(b) T 31fR-3ATSId TAGIoleh AleX Zrefder JifAFHr oig /

an over-excited synchronous motor driving mechanical load
(c) TR s & a1 HfFH-3aT9d FAFITAF AT /

an over-excited synchronous motor running without mechanical load
(d) IIFHT oI5 & 9T TATAT Th 3HF-3dToid Aol AL /

an under-excited synchronous motor running without mechanical load

Ffaf@a & @ Sia a1 AR, 30 aa Taféer oF aar &

Which of the following motors will give highest starting torque?

() TUTRF FTeIC A / capacitor start motor
(b) Ifia¥e AT / universal motor

(c) shaded ¢@ HeX / shaded pole motor
(d) ufdsersr A / reluctance motor

LT 660 V AT UraT higel & 39T fFT SATidrel ATeleh &l <1, W AR Far
gl

The diameter of conductor used in LT 660 V grade power cables depends on

(@) YdTeledlcAs dlecdr / operating voltage
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31

32

33

34

35

(b) rfFaaone / power factor
(c) arfgd &RT / current to be carried
(d) 9gFd AU HT YR / type of insulation used

U A3 ST & el & AU 3raeas diecd ] AR Far &
Voltage required to operate a neon-sign tube depends upon

(a) Tg& T =TS / length of the tube

(b) €I T 91y / tube material

(c) Tgs o1 <ard / diameter of the tube
(d) g @ #AerS / thickness of the tube

g YR F ACH DC IRads & Hafde geTdr &
In which type of AC to DC converter efficiency is higher :

(a) A ST A< / motor generator set

(b) Jedr aRads / rotary converter

(C) HPIY 3Th IR / mercury arc rectifier
(d) Tifas Tee aleterss / solid state rectifier

FATE ‘B’ YaYF #, MFeqe URT & fov varfed arch &

In Class ‘B’ amplifier, the output current flows for

(a) 3me geqe @ghel A A / less than half input cycle
(b) 3medr $eTqC HIghel & 31f8% / more than half input cycle
(c) 3mel 379 wghel / half input cycle

(d) 9 s=19c ATSH / entire input cycle

Tsh SCR @dieh URT & WY UTelel od YT HMM 5
An SCR starts conducting with appreciable current when

(a) TS AT JIC il FOMcAS @ / anode and gate both are negative

(b) TS H{UNcAS AT T UATcHS & / anode is negative and gate is positive
(C) TAlS UellcAe dYUT JIC MUTcA® & / anode is positive and gate is negative
(d) TAIE T JIC alel Yl & / anode and gate both are positive

g5 85 Jur @ 3mga & faUv | dieq olEissT &7 39319 8T o

For high head and low discharge, the water turbine used is
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(a) dYoce drer / Pelton wheel

(b) FeusT Tl / Kalpan turbine
(c) feaw esfaT / Francis turbine
(d) =ifes & / Propeller turbine

36  ZHBRER W Al-as greTor FI e F v o Jrar gl

No-load test on a transformer is carried out to determine

(a) dm gIfer / copper loss

(b) %IQW $RT dUT dTtH g1f / magnetizing current and Copper losses
(c) TS URT AT =A1-AA1s gTfel / magnetizing current and no — load loss
(d) TEwER &1 gaTar / efficiency of the transformer

37 R-L-CURUY # 3fa1g W ARFAIOIH BT &

The Power- factor at resonance in R-L-C circuit is

(@) =T / Zero

(b) 1S / Unity

(c) 0.5f3ar / 0.5 lagging
(d) 0.5=0f3ar / 0.5 Leading

38 i AT 3UIUT sefFed URT & FSHT YHIT G HF HT §
Which appliance works on heating effect of electric current?

(a) arfrer #f=r / Washing machine
(b) s fAFEY / Food mixer

(c) <sor 9@ / Table fan

(d) <rEeX / Toaster

39 AR 1mH 9T T FAGR H ST AT ¥l FH FASTA H AWl H ar ImH are IR
& Y SIST IRAT §| AT Iehdl AT

Four inductors each of inductance 1mH are connected in parallel and this combination is
connected in series with two inductors each of inductance 1mH. Calculate the equivalent
inductance?

@ 25 mH
(b) 3.75mH
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40

41

42

43

(c) 2.25mH
(d) 3mH

TIETH URT TABER (CT) & SisT &r # Afése forar am=r &

The burden of protective Current Transformer (CT) is specified in

(a) s arT Fr gfaerd / Percentage of load current
(b) @teT - TiFIR / Volt - Ampere

(c) wfdera 3rgar 3fe / Percentage Ratio error

(d) wfaerd % JfE / Percentage Phase Error

oI Aler &, ®eX 3 em.f (Ep) H IRAT R AR T §

In a Synchronous motor, the magnitude of stator back e.m.f (Ep) depends on

(@) FeEX & g7 / speed of the motor

(b) HIET & #AR / load on the motor

(c) haer DC 3dstehar / DC excitation only

(d) Jer dUT JUeX FIFT At / both the speed and rotor flux

A-es dr Tyfa A Jur afasdeear & aifad aerfes Ay & 3R 9rT I,
When running under no-load condition and with over excitation, armature current Iy
drawn by a synchronous motor

(a) TG dleedm & @Y %BH H § / s in phase with the applied voltage
(b) IRomET Seedr E, & 90° & 91 § / Lags the resultant voltage E, by 90°
(C) g VT E@RT 39 dlecdl & 9IS § / Lags the applied voltage by a small

angle
(d) 3teT9geFd aloedm & 3T 8 / Leads the applied voltage

T 8 ¢ Feardfcd 750 r.p.m 9T EOTT BT g1 IHT GRT g g
A 8 pole alternator rotates at 750 r.p.m. Its frequency is

(@) 50 Hz

(b) 75 Hz

(c) 80 Hz

(d) 100 Hz
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44

45

46

47

I =T & v, ¢d qRad= fafer #H YA ST Hehell &
For the speed control purpose, pole changing method can be adopted for

(a) Fera Rer Aex / Slip ring motor

(b) FFFIfeIe AEX / Synchronous motor

(c) Fater ot 32T Al / Squirrel cage induction motor
(d) Teher T AreX / Single phase motor

T 1000 Fic geX HF Th 240 V AC Toal$ & SNST 3T gl glex H dgal 9RT

___®
A 1000 watts heater is connected to a 240 V AC Supply. Then the current drawn by the

heater is

(a) 8.006 amperes
(b) 6.106 amperes
() 5.160 amperes
(d) 4.166 amperes

T go aRuy &

In an open circuit.....

(2) SR TUT 9T =l oY ©
Resistance and current both are zero
(b) Ay g URT S 3T &
Resistance and current both are infinity
(c) SRR 9T ¥ @ U 3 §
Resistance is zero and current is infinity
(d) ufeRer 3=d & dor ORT T §

Resistance is infinity and current is zero

H-&NOT GRYY s (ELCB) & YR T FI AT ¢
Earth Leakage circuit breaker (ELCB) works on the basis of .....

(a) 31aferse URT / Residual current
(b) ¢ URYY €RT / Short circuit current
(c) 3aalls &RT / Overload current
(d) fTsgsITdY ¢IRT / Neutral current
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48

49

50

51

52

¥ 7 sorgiese Hr ufy @@t & AT S ¥

The condition of electrolyte in a battery is measured in terms of

(a) &RT HATT / current value
(b) fafarse getca / specific gravity
(c) 31FcT HMET / acid contents

(d) areed 3T3cYC / voltage output

ar gehra ¢t & S R I
The force acting between two magnetic poles is

(a) E,\ﬁ & Hﬂ'l?:ﬂl?ﬁ / directly proportional to the distance

(b) Z‘,\ﬁ & W / inversely proportional to the distance

(c) E@ & g & m@m?ﬁ/ directly proportional to the square of the distance

(d) Z‘,\ﬁ & T & W /inversely proportional to the square of the

distance

d3 grg fiheex 98 § Sr
A band pass filter is that which

(a) T 3-1'@% Hohd ST § / passes low frequency signals

(b) 3=d 3TIT:Icﬁ Hohd ASIAT & / passes high frequency signals

(c) ar mﬁr AT & T Tohd AT & / passes signals between two frequency
limits

(d) ar 3TIT:IJ?T AT & &SI Gohd Hl d%%lgd AT & / rejects signals between two

frequency limits

TCR TAISTel A olgeT dreedT (E) ¥F A ¥ (Ep =g dreedn)
The line voltage E, in a star connection is equal to.... (Ep = phase voltage)

(a) \/§ .Ep
(b) Ep

() +/3.Ep

1

(d) V3 .Ep

dlecHIeY & W &l deld & ToIT

In order to increase the range of a voltmeter
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53

54

55

56

(a) SBEIET H Ut e gfoRrer & S8 S ar § / a low resistance is connected in
series

(b) GHATAR & T foAeeT TR HF ST ST & / a low resistance is connected in
parallel

(c) 8!‘@ of H Teh 3od YfeRIY &l ST ST g / a high resistance is connected in
series

(d) FHATGR H T 3T YfaY &l SIS Al & / a high resistance is connected in

parallel

araIRar S, #ael AT # QST va fharfead #er & 3fed §

The wiring that needs to be planned and executed along with building construction is
(a) Fellc arANIMIT / cleat wiring

(b) S¢oT arIReT / batten wiring

(c) HesyC g arIfeT / conduit surface wiring

(d) &sgC Hdles ariIRdT / conduit concealed wiring

rafaf@a 3-%9 At F @ FiF @ Aex v Terféar J8 &

Which one of the following 3-phase motors is NOT self-starting ?

(a) HHMITIR FAlEX / Synchronous motor

(b) TEFaTeT ol §3FUA HAlEX / Squirrel cage induction motor
(o) 33 JeX AeX / Wound rotor motor

(d) 3 el AlEX / Double cage motor

frafafaa # AfSea aa sia ar g2
Which one of the following is a passive device ?
(@) FET

(b) SCR

(c) BJT

(d) Air core inductor

e | aRT g vd V dleear &, A AFTP & @A §
If current is | and voltage is V, then power P is equal to

(@ Vvl

(b) VzxI
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57

58

59

60

() VxI2
(d) VxI

fFa R &1 fFAenas, safdese 3T H AT ot AT §

Which type of fire extinguisher is suited for extinguishing electrical fire?

(@) dreT - TfAs 3P emA® / Soda — Acid Fire Extinguisher.

(b) FE - SBAHEAS 3FA aFS / Carbon — Dioxide Fire Extinguisher.
(c) WIH €8T 3ifdsT A% / Foam Type Fire Extinguisher.

(d) 9/ Water.

SlfFeahel IRUY H ATaRar FTAIT: EaRT ST & A &
Continuity of an electrical circuit is usually checked by

(a) 3HART / Ohmmeter

(b) THIEY / Ammeter

(c) dtee HIEX / Voltmeter

(d) erfFa #eX / Power meter

forel wenfer 1 enfar & FAT gl &

The capacitance of the capacitor is directly proportional to the ....

(a) velc @ 9erd / material of the plate

(b) Telc FT &F%e / Area of the plate
(c) vele & &I dleedr / voltage across the plate
(d) velel & & gadl/ polarity of the plates

Y HIS AT T 9 I[N FAT @Il §
What is the form factor of pure sine wave?
(@) 0.11
(b) 1.01
(c) 1.00
(d) 1.11
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